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3amaua S-4.1. Beaonenro Haruna
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p=1xH/m, P=5«H, Q=19 xH,
M = 30 kHu, a = 60°, 8 = 30°, ~ = 30°,
AB=6wm, BC=11wm, CD =4 wm,
DH = 4w, BK =3 v, CN =2 .

3amaua S-4.2. Bozdanosuyw Muxaun
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p=2xH/m, P=8xH, Q=32xkH,
M =20 xkHwm, a = 60°, § = 60°, v = 45°,
AB=6wm, BC=10wM, CD =4 v,
DH=4wm, BK=2wm,CN =2 wm.

3agaua S-4.3.
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p=2xH/m, P=8«H, Q=29 kH,
M =20 xHwm, a = 60°, 8 = 60°, v = 45°,

AB=4wm, BC=6wm,CD =14 v,
DH=4wm,CK=2wm,CN=3wm.

Boxapesa Anacmacus

3amaua S-4.4. Boponosa Examepuna
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p=3xH/m, P=7xH, Q=13 xH,
M =70 kHwm, o = 60°, 5 = 30°, v = 60°,
HB=4wm, BOC=T7wMm,CD =13,
DA=4wm,CK=2wm,CN=3wm.

3amaua S-4.5. Taaywro Poman

p=3xH/m, P=9«H, Q= 15 kH,

M =170 kHwm, o = 60°, = 60°, v = 60°,
HB=5wm, BC=6wM,CD =8 wm,
DA=4wm,CK=2wMm,CN=3wm.

3amaua S-4.6.
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p=1xH/m, P=7xH, Q=15 kH,
M = 30 xHwm, a = 60°, 8 = 60°, v = 30°,

AB=4wm, BC=10wM, CD =6 ™,
DH=4wm, BK=2wm,CN =3 wm.

I'puzopves Muzaun
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3amaua S-4.7.
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Kypasaes Uava
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p=3x«kH/m, P=8x«H, Q=13 «H,
M = 70 kHu, a = 60°, 8 = 45°, ~ = 60°,
HB =4w, BC =14, CD = 6 u,
DA=5wm, BK =3M, CN =3 M.

3agaua SI—{4.8. Kamaesa Iauna
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p=3xH/M, P=9«H, Q=13 xH,
M =70 kHwm, o = 60°, 5 = 60°, v = 60°,
HB=4wm, BC=10m, CD =7 M,
DA=4wm, BK=2wm, CN =3 M.

3anaga S-4.9. Kosaos Anamonudi
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p=1xH/m, P=5xkH, Q=31 «H,
M =15 kHwm, a = 60°, 8 = 30°, v = 30°,
AB=4wm, BC =14 M, CD =4 wm,
DH=6wv, BK =3Mm,CN =2wm.

3amaua S-4.10. Kopasxos Andpeti
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p=2xH/M, P=6xH, Q= 22xkH,
M = 20 xkHwm, a = 60°, = 30°, v = 45°,
AB=4wm, BC=4wm,CD =12 m,
DH=4m,CK=2wm,CN =2 wm.

3amaua S-4.11. Mazud Cepeeti
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p=2xH/m, P=8x«H, Q=35«kH,

M =20 xHwm, a = 60°, 5 = 60°, v = 45°,
AB=5wm, BC=6wM,CD =9 wm,
DH=4m,CK=2wMm,CN =3 wm.

3amaua S-4.12.
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Manaenxos Kupuan
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p=2xH/m, P=7xH, Q=28 xH,
M =20 xkHwm, a = 60°, = 45°, v = 45°,
AB=6wm, BC=13 M, CD =6 M,
DH =4wm, BK =3 M, CN =3 M.

3amaua S-4.13. Mauxo Kcenusa

p=3xkH/m, P=9«H, Q=19 xH,
M = 70 kHu, a = 60°, 8 = 60°, ~ = 60°,
HB=6w, BC=T7w, CD =4 u,
DA=4wm, BK =2wm,CN =2 M.

3amaua S-4.14. Mouceesa Anacmacus
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p=2xH/m, P=8xH, @Q=21«H,
M =50 kHwm, a = 60°, 8 = 60°, v = 45°,
AB=6wm, BC=7Twm,CD =11,
DH=4wm,CK=2wm,CN =3 wm.




3amaua S-4.15. Hoesuxoe Anexceti

p=2xH/m, P=8xH, Q=28 «H,

M = 20 xHwm, o = 60°, 5 = 60°, 7 = 45°,
AB=4wm, BC=8wm,CD =6 w,
DH=5wm, BK =2wm,CN =3 wm.

3amaua S-4.16. Osuunnuros Eeop

p=2xH/m, P=8«H, Q=25«kH,

M = 20 kHwm, o = 60°, 5 = 60°, v = 45°,
AB=7wm, BC=6wm,CD =4 w,
DH=5wm, BK=3Mm,CN =2 wm.

3agaya S-4.17. Opanbexos Kupuan

p=1xH/m, P=6xH, Q= 35«kH,

M =15 kHwm, a = 60°, 8 = 45°, v = 30°,
AB=6wm, BC=9wm, CD =4 w,
DH=5wm, BK =2wm, CN =2 M.

3amaua S-4.18.
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Hanraeuykuti Cepeedi
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p=3xH/M, P=9H, Q=28 xH,
M = 25 kHwm, a = 60°, 8 = 60°, v = 60°,
HB=4wm, BC=6wm,CD =13 wm,
DA=6wm,CK=2wm,CN =3 wm.

3amaua S-4.19. Hywxuna Mapus

p=3x«kH/m, P=8x«H, Q=11 «H,
M =70 kHwm, a = 60°, 8 = 45°, v = 60°,
HB=4wm, BC=6wm,CD =9 wm,
DA=4wm,CK=2wM,CN =3 wm.

3amaua S-4.20. Pasdobapun Bopuc
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p=1xH/m, P=6«H, Q=27 kH,

M =15 kHwm, a = 60°, 5 = 45°, v = 30°,
AB=5wm, BC=6wM,CD = 8w,
DH=6wm,CK=2wM,CN =3 wm.

3amaua S-4.21. Cepwiti Aaexcandp

p=3xH/m, P=8xH, Q=25«kH,
M = 25 kHwm, a = 60°, B = 45°, v = 60°,
HB=4wm, BOC=6wm,CD =6 w,
DA=5wm, BK =3 M, CN =3 M.

3amaua S-4.22.
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p=3xH/m, P=8xH, @Q=35«kH,
M = 25 kHwm, a = 60°, 8 = 45°, v = 60°,
HB=4wm, BC=10wM,CD =6 wm,
DA=3wm, BK =2wm, CN =3 M.

Conosves Poman




3amaua S-4.23. HTununa Eausasema
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p=3xkH/m, P=9«H, Q=31 H,
M = 25 kHw, a = 60°, 3 = 60°, v = 60°,

HB=5wm, BC=6wm,CD =14 wm,
DA=4wm,CK=2wM,CN =3 wm.
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